Algebra I – 2nd Semester Practice Final 8.0
1. What is the value of (-3)0 ?


A. undefined


B. 0


C. 1


D. -3

2. Simplify:
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3. Multiply and simplify:
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4. Which expression is equivalent to:   
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5. Simplify the expression using only positive exponents:
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6. Simplify:

(4x2 – 3x + 2) – (7x3 – 5x2 + x + 8)


A. –7x3 – 5x2 – 3x + 10


B. –7x3 – 5x2 – 3x – 6


C. –7x3 + 9x2 – 4x – 6


D. –7x3 + 9x2 – 4x + 6

7. Simplify:
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A. -6x5

B. -12x5


C. -12x6

D. 12x6
8. Which is the solution to:
| x – 2 |  =  4


A. x = 2


B. x = 6


C. x = 2, x = 6


D. x = -2, x = 6

9. Which expression is equivalent to:   5x2 + 10xy + 11y2

A. (5x + y)(x + 11y)


B. 5(x2 + 2xy + 11y2)


C. 5(x2 + 2xy) + 11y2

D. 26x3y3
10. Which expression is equivalent to:    3x3 + 6x2 – 9x


A.  27xxx + 6xx – 9x


B.  3x2x + 6x2 – 9x


C. 3xxx + 6xx + 9x


D. 27x3 + 36x2 – 9x

11. Simplify:
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12. Which graph could represent the solution to: 
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A. 


B.



C.      


D.      Empty Set

13. Solve the system of equations: 
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A. (0, 1)


B. (1, 2)


C. (-1, 2)


D. (-2, 1)

14. What are the solutions to:
x2 – 3x – 10 = 0 


A. x = 2, x = 5


B. x = -2 , x = 5


C. x = 2, x = -5


D. x = -2, x = -5

15. Choose the best estimate for the root(s) of the equation graphed here:
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A. x = -2 

B. x = 1, x = 2

C. x = 1, x = 3

D. No real roots
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16. Which graph represents the solution to the system:
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17. Which formula gives the solution to:  
0 = ax2 + bx + c
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18. Which expression corresponds to:
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19. The area of a rectangle is x2 + 5x + 6. If the width is x + 2, what is the length?

A. x + 3


B. x + 4


C. x + 5


D. x + 6

20. Add:

[image: image44.wmf]2

33

2

p

p

p

-

+



A. 
[image: image45.wmf]2

2

p

p



B. 
[image: image46.wmf]2

53

2

p

p

-



C. 
[image: image47.wmf]2

56

2

p

p

-



D.  
[image: image48.wmf]1

2

p


21. Subtract:
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22. How many solutions are there to the equation:  

2x2 + 3x + 4 = 0


A. 0


B. 1


C. 2


D. Cannot be determined
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23. Solve the following equation:  
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A. –4 
B. 0
C. 2
D. 4
24. Solve the following system of equations: 
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A. (0, 1)


B. (2, 5)


C. (5, 2)


D. (5, 5)

25. Which graph represents the following equation:
y = x2 – 7x + 12


A. [image: image56.png]
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